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(b) (i) Prepare the Materials Purchases Budget for material Q for each of the three
months December 2018, January 2019 and February 2019.

Your answer should be in columnar format and show the amount of
material Q that needs to be purchased each month in kgs.
(6)

(i) Calculate the cost of purchases of material Q, in $, for each of the 3 months
December 2018, January 2019 and February 2019.
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(d)| Explain t\ko Iceneﬁhts of effectiveliny enLtory management/and control.




BLANK PAGE

%
53
TS
RS
oo~

5
MR AP O Tam over »
P 5 7 4 7 7T A 0O 5 2 4



VIUV SIHENEILIHM ION.Od

DO NOTWRITE IN:-THIS:AREA

Y3dY SIHENEILIHMNION- O

DONOTWRITEINTHISAREA

YIHY SIHENEI LA LON-Od

DONOTWRITEIN-THIS AREA

0 6 2 4

A

5 7 4 7

P

Q
S v o
T - o
w € W w| o
c 9 o N
I
g5 &
Tqu “ & n
~ [~ "%
foe)
(=] = £ o .U
& C
— % T n wv) O
W —
k) = ! o ! ]
& = )
o ) = n
5 = = =
2 2 = —
N ) (o) o o8] ——
Ly ) g lw ) N n iy —
[%) ..Mu d- L o ﬁm S . ———
w e u S lu m bt D I
= w oN iy = N —
m & = ol ~ n @ r-u
re ot = = a p- -] —
¢ = ) ——]
W M_Hw. 0 |V et .Yy —_—
o @ T o o —
[ N o 4 —
By =1 ﬁ e ——
oE e el ellld 18 SIS~ —
= A.-. = -~ =Y ”“ S = - I
w r. M. 3 LN PaN] — ﬁ o € nw IS o —_—
X r 1 - —
oY = = @ L [ N u"u
e —r P Y ut ) I
AR = = - —
- | q)) D D D ) —
O = Q uy f T j—
=15 o 2 [ -l =
@ o * —
v = 2 £ 28 7 £ 53 =
& . = il
b ¢ = B= —
s 9 || = 2 < T W b S v I~ —
— o “ = O 155 e
Tl c T W 2 v} m T w»n = = .m‘.\ —
= ~
o L (] o w D TR} I
=R g 1 c SIS
rLllmu. .Nw [N 4 o = 51t
Jle : I P . 5 [ c
N o ,ﬂ A= =4 o] u hi]
CBla o W [} 2 | c & ] =
oL e e El 5= £ = 2 o T
=55 £ 25 s | £E2 £ §E
=4 © D) = g
o3 e © C + @ © S []E
el N B [s— D o [/ 5 - [
<2 =2 RIS c |l = D | & o5 SRS
& = HE ol ~
8o 3 £ 2 91§ SIS
= \" “+ m = = =) W) ol o ﬁ =4
N +7| al L= Q Olwv
il cr | A - Paii Q
> = ||H | K v al & [o] g
, o) T ©
~N | I




S¥ K :
SRR

_vadvSIHLNIGLMIONOG

\/,<\/,

“DO NOT WRITE IN THIS AREA

- DO'NOT WRITE IN THIS AREA

DO NOTWRITE IN THIS /AREA

The actual overheads and the number of machine and direct labour hours worked
during November 2018 were as follows:

Cutting Finishing

Actual overheads $147 600 $105200
Machine hours 2610 195
Labour hours 1645 3420

(b) Calculate the over or under absorption of overheads for each of the Cutting and
Finishing departments. (Round your answers to the nearest $.)
(4)
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allocation ofloverhead
(ji) dpportionmenit|of loverhieads.

(i)

(d)| Bxplain the following terms
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Yewtree uses a cost-plus approach when setting selling prices.

(d) Evaluate for Yewtree the over or under absorption of overheads that you have
calculated in part (b).
(6)

(Total for Question 2 = 22 marks)
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(a) Prepare the Cash Budget for each of the three months November 2018,
December 2018 and January 2019. The budget should be in columnar format and
all figures should be calculated to the nearest $.

(12)

P 5 7 4 7 7 A 0 1 1 2 4

11

Turn over »




VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC YIHY SIHENEI LA LON-Od

DO NOTWRITE IN:-THIS:AREA DONOTWRITEINTHIS AREA DONOTWRITEIN-THIS AREA

efficiently.

(b) Exp $in t\ko reasons why/itlis important for Acacia Ltd to/manage|its cash flow
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(c) Evaluate Acacia Ltd’s expected cash flow, as shown in the Cash Budget in (a), for
the period November 2018 to January 2019.
(8)

(Total for Question 3 = 24 marks)
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(b) Calculate the cost of producing one dress in October 2018 using:

(i) marginal costing

(2)

(ii) absorption costing.

(4)
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absorption costing.
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(b) Prepare the Chemical Process Account for October 2018.

(c) Complete the entries in the following ledger accounts:
« Normal Loss Account

. Abnormal Loss Account or Abnormal Gain Account.

P 5 7 4 7 7 A 0 2 1 2 4

21

Turn over »




VIUSIHLNEILIYM ION.Od YIUY SIHENEZLIHMNLON:OC YIHY SIHENEI LA LON-Od

DO NOTWRITE IN:-THIS:AREA DONOTWRITEINTHIS AREA DONOTWRITEIN-THIS AREA

=16marks)
5

b4

£ -
= LI
(@)

N Q L
= v <
+ &

S é
hd A
(%] L
(Va) 'l
a)
e
<
-+ -

reasons for your.answer.

(d) é)&p ain tl‘echa‘ractkri%tics of a businegs that may use proce

4 7 7 A0 2 2 2 4

7

P 5

22




BLANK PAGE

R A A )
P 5 7 4 7 7 A 0 2 3 2 4



XXX

| DONOTWRWEINTHISAREA  DONOTWAITEINTHISAREA

/////)///

| DONOTWRITEINTHIS AREA

///.f////

BLANK PAGE

2 4 2 4

5 7 4 7 7 A O

P

24



